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QUESTION 1

Given the code fragment:

Connection con = null;

try {
J/ 1ine ni

if(con != null){
System.out.print ("Connection Established.");

} catch (Exception e) {
System.out.print (e);

}
Assume that dbURL, userName, and password are valid.
Which code fragment can be inserted at line nl to enable the code to print Connection Established?

A. Properties prop = new Properties(); prop.put ("user”, userName); prop.put ("password", password); con =
DriverManager.getConnection (dbURL, prop);

B. con = DriverManager.getConnection (userName, password, dbURL);

C. Properties prop = new Properties(); prop.put ("userid”, userName); prop.put ("password", password); prop.put("url",
dbURL); con = DriverManager.getConnection (prop);

D. con = DriverManager.getConnection (dbURL); con.setClientinfo ("user”, userName); con.setClientinfo ("password",
password);

Correct Answer: A

QUESTION 2

7. BiPredicate<String, String> bp = (S8tring sl, String s2) -> sl.contains("SG") &&
s2.contains ("Java™) ;

8. BiFunction<String, String, Integer> bf = (String sl, String s2) —> {

9. int fae = 0;

10. if (bp.test(sl, s52)) {

11. fea = 100;

12. 3

13. return fee;

14. }:

15. int feel = bf.apply("D1018G", "Java Programming");
16. system.out.println(feel):

What is the result?
A. A compilation error occurs at line 7.

B. 100
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C. A compilation error occurs at line 8.
D. A compilation error occurs at line 15.

Correct Answer: A

QUESTION 3
Given the code fragment:

List colors = Arrays.asList("red", "green", "yellow");
Predicate test=n - > {
System.out.printin("Searching...");
return n.contains("red");

h

colors.stream()

filter(c -> c.length() > 3)

.allMatch(test);

What is the result?

A. Searching...

B. Searching... Searching...

C. Searching... Searching... Searching...

D. A compilation error occurs.

Correct Answer: A

QUESTION 4

Locale Currency Symbol Currency Code
Us ¢ USD

and the code fragment?

double d = 15;
Locale 1 = new Locale ("en"™, "US5"):

NumberFormat formatter = NumberFormat.getCurrencyInstance(l);

System.out.println{formatter.format(d)) ;
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What is the result?
A. $15.00

B.15%

C. USD 15.00

D. USD $15

Correct Answer: A

QUESTION 5

Given:

class Vehicle implements Comparable{
int vno;

String name;

public Vehicle (int vno, String name) {
this.vno = vno,;

this.name = name;

}

public String toString () {

return vno + ":" + name;

}

public int compareTo(Vehicle 0) {
return this.name.compareTo(o.name);
}

and this code fragment:

Set vehicles = new TreeSet ();
vehicles.add(new Vehicle (10123, "Ford"));
vehicles.add(new Vehicle (10124, "BMW"));
System.out.printin(vehicles);

What is the result?

A. [10123:Ford, 10124:BMW]
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B. [10124:BMW, 10123:Ford]
C. A compilation error occurs.
D. A ClassCastException is thrown at run time.

Correct Answer: A
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